2496 US HWY 36 SABETHA KS 66534 785-284-3538

7/28/2017 10:34 AM

Invoice #52326

Day Phone 402-855-2855

PAWSON AG
RT.1 BOX 114
DAWSON NE 68837

Vehicle : 2009 INTERNATIONAL Workstar 7400 SFA FLOATER

VIN : 1HTWDAZI 19 1107909

Color : White

VIN : 1HTWDAZL19J107909 Created : 2/23/2017 7:48:16 AM Complete : 7/17/2017 3:01:11 PM

Invoiced: 7/28/2017 10:32:49 AM Contact: JIMMY (402-862-5112-C)

Srv Writer: MJ

Labor/Notes

Code/Tech*	Reference	Description	Price
GG*	WASH	HIGH PRESSURE WASH	\$20.00
GG*	HT	HOT TANK PARTS	\$10.00
GG*	BOSCH COMP	BOSCH COMPUTER HOOK UP	\$75.00
GG*	AC1	A/C SERVICE	\$65.00

CHECK OUT A/C SYSTEM. TOPPED OFF FREON LEVELS AS NEEDED.

GG* GEN GENERAL OUTSIDE REPAIR WORK.

\$9,500.00

THE TRUCK WAS HAULED INTO THE SHOP WITH A LOCKED UP ENGINE. THE TECH WASHED WORK AREAS, EXAMINED FOR PROBLEMS, STARTED REPAIRS. PERFORMED A COMPUTER HOOK UP, CHECKED AND CLEARED CODES. REMOVED HOOD, RADIATOR, DRIVE LINE, TRANSMISSION, AND ENGINE. REMOVED HEAD AND MEASURED LINER PROTRUSION, FOUND # 6 LOW. CLEANED AS NEEDED. MOUNT ENGINE ON STAND FOR OUT OF FRAME OVERHAUL. REMOVED PISTONS AND LINERS, FOUND THE #6 LINER SHIM TWISTED. MEASURED COUNTER BORE. R&R TRANSMISSION FILTERS W/NEW. R&R AIR FILTER W/NEW. R&R FUEL FILTER W/NEW. PERFORMED OUT OF FRAME OVERHAUL AS NEEDED. PERFORMED EGR DELETE AS REQUESTED. PROGRAMMED ECM AS NEEDED. PRE OILED ENGINE. REASSEMBLED AS NEEDED TO CORRECT. FILLED WITH FLUIDS AS NEEDED. SERVICED THE A/C SYSTEM TO COMPLETE REPAIRS TO THE TRUCK.

FM*

RT

ROAD TEST

\$12.50

THE TRUCK WAS ROAD TESTED BY THE DR. OR ONE OF HIS STAFF, AND THE WORK COMPLETED HAS MET HIS STANDARDS, WITH THE HIGHEST REGARDS FOR QUALITY, SAFETY, AND PERFORMANCE. REMEMBER, IF YOUR BIG TRUCK OR TRAILER IS SICK, BRING IT IN TO SEE THE TRUCK DR. AT FLOYD'S TRUCK REPAIR. THERE IS A DIFFERENCE! WE THANK YOU FOR YOUR BUSINESS. BE SAFE.

Parts						
Qty	Code/Tech*	Reference	Description	Condition	Unit Price	Price
1	IMP	72184	10 ATO FUSES	New	\$0.32	\$0.32
12	IMP	71601	4" RED ZT	New	\$0.11	\$1.32
16	IMP	71385	4" BLACK ZT	New	\$0.08	\$1.28
3	IB	31MHD	BATTERY		\$126.44	\$379.32
3	-	CORE	Core Charge		\$26.00	\$78.00



Odometer In: 5436

Odometer Out: 5446

2496 US HWY 36 SABETHA KS 66534 785-284-3538

7/28/2017 10:34 AM

page 2

ehic	le : 2009	INTERNATIONA	L Workstar 7400 SFA FLOATER			
	(continued)			0 1111	U. it D.i.e.	Drie
Qty	Code/Tech*	Reference	Description	Condition	Unit Price	Price
3	-	CORECREDIT	Core Credit		(\$26.00)	(\$78.00
4	IMP	71605	4" BLUE ZT	New	\$0.09	\$0.3
1	IMP	71604	4" GREEN ZT	New	\$0.09	\$0.0
1	INT	1889280C97	WORKS OVERHAUL KIT	New	\$4,065.61	\$4,065.6
14	INT	1883597C1	BOLT (MAIN BEARING)	New	\$9.72	\$136.0
2	INT	1833125C1	DOWEL PIN (CYL HEAD)	New	\$5.66	\$11.3
3	INT	1823356C92	LINER SHIM KIT	New	\$167.43	\$502.2
14	INT	1842547C1	RETAINER SPACER	New	\$2.60	\$36.4
1	INT	1877626C92	BLOCK HEATER	New	\$147.97	\$147.9
1	INT	1842124C91	SEAL KIT OIL COOLER	New	\$62.74	\$62.7
5	INT	1844447C1	O-RING	New	\$9.88	\$49.4
1	INT	1873940C4	COOLANT HOSE (EGR)	New	\$26.25	\$26.2
2	INT	1812348C1	FUEL LINE SLEEVE	New	\$4.60	\$9.2
2	INT	1873906C1	GASKET (FUEL FILTER HOUSING MOUNT)	New	\$36.18	\$72.
6	INT	1841843C94	INJECTOR HOLD DOWN ASSY	New	\$41.06	\$246.
1	INT	1841479C1	SEAL RING	New	\$13.69	\$13.
1	INT	1842130C3	THERMOSTAT	New	\$80.40	\$80.
2	INT	1664723C3	FRONT ENGINE MOUNT (LOWER)	New	\$78.03	\$156.
2	INT	1664726C2	FRONT ENGINE MOUNT (UPPER)	New	\$22.14	\$44.
2	INT	875522C1	O-RING	New	\$3.77	\$7.
1	INT	3605681C2	RADIATOR HOSE (22.5 DEGREE)	New	\$24.34	\$24.
1	INT	2003569C1	RADIATOR HOSE (90 DEGREE)	New	\$13.91	\$13.
1	INT	1850500C92	V/C GASKET WITH HARNESS (MAXXFORCE 9)	New	\$499.44	\$499.
1	INT	FLTXC35AF	3.5 INCH ACCUSEAL CLAMP	New	\$10.63	\$10.
1	INT	1836235C1	AIR COMPRESSOR GASKET	New	\$19.77	\$19.
1	INTE	591597C2	GASKET (P/S PUMP)	New	\$8.31	\$8.
1	INT	1836005C1	HEUI OIL PUMP MOUNT GASKET	New	\$21.22	\$21.
1	INT	1836537C91	COOLANT TEMP SENSOR	New	\$39.91	\$39.
1	BAL	RS4637	AIR FILTER (INNER)	New	\$56.48	\$56.
1	MIN	00876422	14oz CAN LUBRIPLATE	New	\$16.15	\$16
1	INT	1876922C91	SEAL KIT (BREATHER BRACKET)	New	\$29.60	\$29
2	INT	3549169C2	REAR ENGINE MOUNT	New	\$282.57	\$565
2	INT	3532955C1	REAR ENGINE MOUNT WASHER	New	\$33.57	\$67
1	INT	1847748C1	ENGINE FAN BELT	New	\$132.91	\$132
1	INT	571598C1	RADIATOR HOSE	New	\$13.15	\$13
1	INT	503232C1	RAD HOSE	New	\$20.37	\$20
1	INT	2591800C92	COOLANT SURGE TANK	New	\$640.56	\$640
1	INT	3532801C1	ENGINE AIR FILTER (OUTER)	New	\$119.22	\$119
1		3808278C3	SLEEVE	New	\$8.88	\$8



2496 US HWY 36 SABETHA KS 66534 785-284-3538

7/28/2017 10:34 AM

page 3

Invoice #52	2326
-------------	------

	(continued) Code/Tech*	Reference	Description	Condition	Unit Price	Price
1	PEX	51813	PERMATEX GASKET MAKER	New	\$17.69	\$17.6
3	IMP	12705	M10 LOCKWASHER	New	\$0.09	\$0.2
3	IMP	15174	M10 X 30MM 1.5 PITCH 10.9	New	\$0.89	\$2.6
3	IMP	12622	M10 10.9 FLATWASHER	New	\$0.23	\$0.6
1	IHC	1879756C1	O-RING	New	\$7.14	\$7.1
3	INT	1879755C1	O-RING (HIGH PRESSURE OIL LINE)	New	\$2.38	\$7.1
2	INT	2594129C1	DPF GASKET	New	\$27.00	\$54.0
6	INT	1858327C91	PISTON COOLING JET KIT	New	\$27.11	\$162.6
5	IMP	71387	7-1/2" BLACK ZT	New	\$0.14	\$0.7
5	IMP	71386	WIRE ZIP TIE	New	\$0.29	\$1.4
2	IHC	1841365C3	EXHAUST MANIFOLD BOLT	New	\$5.38	\$10.7
2	KW	D20064558	CLAMP		\$8.11	\$16.2
4	KAR	6	HOSE CLAMP (CM2194)		\$1.89	\$7.5
2	CON	65020	1/2 HEATER HOSE(SILICONE)		\$4.98	\$9.9
1	INT	166562R2	D-2 GOV. GSK.		\$4.83	\$4.8
1	CAT	6V5048	O-RING	New	\$3.94	\$3.9
1	IMP	12453	M10-1.50 NUT	New	\$0.05	\$0.0
1	IMP	12705	M10 LOCKWASHER	New	\$0.09	\$0.0
1	IMP	12622	M10 10.9 FLATWASHER	New	\$0.23	\$0.2
1	INT	1876921C92	BREATHER ASSY	New	\$643.04	\$643.0
3	IMP	15157	M8 X 40MM 1.25 PITCH 10.9	New	\$0.57	\$1.7
2	IMP	12621	M8 10.9 FLATWASHER	New	\$0.17	\$0.3
10	IMPE	71379	14-1/2" ZT	New	\$0.68	\$6.8
1	TAP	164249	NAV. SUCTION O-RING	New	\$1.49	\$1.4
1	TAP	164253	GWA SUCTION O-RING	New	\$4.18	\$4.1
2	IMP	16104	1/4 X 1 BOLT	New	\$0.14	\$0.2
2	IMP	40150	1/4-20 NUT	New	\$0.08	\$0.
2	IMP	77611	1/4" FLAT WASHER SAE.	New	\$0.14	\$0.2
2	IMP	76170	1/4 LOCK WASHER	New	\$0.28	\$0.
1	IMP	57114	1/2-13 STEEL LOCK NUT	New	\$0.34	\$0.3
2	IMP	77615	1/2" FLAT WASHER (FAS# 11101305)	New	\$0.48	\$0.9
1	IMP	16200	1/2 X 2 BOLT	New	\$0.92	\$0.9
8	FOR	CT300LSS	HOSE CLAMP	New	\$11.88	\$95.
1	DET	29548988	FILTER KIT	New	\$88.38	\$88.
1	TRU	9377	5" RAIN CAP	New	\$19.03	\$19.
1	LUB	CAF24005	CAB FILTER (NEW# AF26430)	New	\$24.75	\$24.
1	INT	1812559C1	SEAL (OIL DRAIN)	New	\$6.77	\$6.
1	IMP	71897	BLUE SHRINK BUTT	New	\$0.66	\$0.6
20		71386	WIRE ZIP TIE	New	\$0.29	\$5.



2496 US HWY 36 SABETHA KS 66534 785-284-3538

7/28/2017 10:34 AM

page 4

	Invoice #52326
: 2009 INTERNATIONAL Workstar 7400	SFA FLOATER

	(continued) Code/Tech*	Reference	Description	Condition	Unit Price	Price
Qty			STRAP KIT		\$12.43	\$24.8
2	INT	657018X	1/2 LOCK WASHER	New	\$0.18	\$0.5
3	IMP	76174		New	\$0.18	\$1.2
7	IMP	77612	5/16" FLAT WASHER	New	\$0.06	\$0.4
7	IMP	76171	5/16 LOCK WASHER	New	\$0.49	\$3.4
7	IMP	15154	M8 X 25MM 1.25 PITCH 10.9	New	\$6.25	\$6.2
1	ALI	29546229	ALLISON FILL TUBE SEAL		\$0.23	\$0.2
1	IMP	12704	M8 LOCKWASHER	New	\$0.65	\$0.6
1	IMP	15152	M8 X 20MM 1.25 PITCH 10.9	New		\$4.2
1	HOC	004-854387	MK JT6 HI TEMP LITHIUM GREASE	New	\$4.25	\$153.8
1	INT	3612302C91	PLASTIC FUEL LINE ASSY (RETURN)	New	\$153.85	\$5.8
1	ROC	90408	5/16 X 18 SELF TAPPING INSERTS	New	\$5.85	
1	IMP	16123	5/16 X 3/4 BOLT	New	\$0.18	\$0.1
1	IMP	77612	5/16" FLAT WASHER	New	\$0.18	\$0.1
2	TAP	164248	NAV. DISCHARGE O-RING	New	\$1.15	\$2.3
2	TAP	164252	GWA NAV. COMP. DISCHARGE O-RING	New	\$5.82	\$11.6
1	IMP	15176	M10 X 40MM 1.5 PITCH 10.9	New	\$0.80	\$0.8
2	IMP	76173	7/16 LOCK WASHER	New	\$0.12	\$0.2
2	IMP	78613	3/8 FLAT WASHER U.S.S.	New	\$0.26	\$0.5
1	IMP	15178	M10 X 50MM 1.5 PITCH 10.9	New	\$1.02	\$1.0
1	IMP	12453	M10-1.50 NUT	New	\$0.05	\$0.0
2	IMP	15156	M8 X 35MM 1.25 PITCH 10.9	New	\$0.66	\$1.3
6	IMP	78612	5/16" FLAT WASHER	New	\$0.22	\$1.3
2.5	FED	5526038	3/8 SIL. HOSE (5526037)	New	\$4.14	\$10.3
1	OBR	1668-6	3/8 HOSE TO 1/4 MPT	New	\$2.03	\$2.0
1	WH	3129X4	1/4 PIPE CAP		\$2.76	\$2.7
1	INT	VEL10230	SMALL 16LB RAD CAP	New	\$7.45	\$7.4
11	FIN	74804	FINAL CHARGE ANTIFREEZE.	New	\$14.34	\$157.
2	KW	D20064545	CLAMP		\$7.98	\$15.9
1	WH	1425	1/4 DRAIN COCK (OBR# 145)		\$3.10	\$3.
1	WH	3200X4	PIPE ADAPTER		\$4.92	\$4.9
6	MOB	98KH08	MOBIL SYN. ATF FLUID	New	\$54.78	\$328.
1	INT	1883086C93	REMAN ECM	Remfd	\$2,464.50	\$2,464.
1	-	CORE	Core Charge		\$250.00	\$250.
1	_	CORECREDIT	Core Credit		(\$250.00)	(\$250.0
1	_	PROGRAM	PROGRAM ECM	New	\$309.08	\$309.
10	IMP	71386	WIRE ZIP TIE	New	\$0.29	\$2.
2	IMPE	71379	14-1/2" ZT	New	\$0.68	\$1.
2	IMP	16125	5/16 X 1 BOLT	New	\$0.22	\$0.
2	IMP	57108	5/16-18 LOCK NUT	New	\$0.13	\$0.:



2496 US HWY 36 SABETHA KS 66534 785-284-3538

	2017 10:34 /	-/IVI	Invoice #523	26		pag
hic			IAL Workstar 7400 SFA FLOATER			
	(continued)		Description	Condition	n Unit Price	Price
Qty	Code/Tech*	Reference		New	\$0.18	
3	IMP	77612	5/16" FLAT WASHER	New	\$0.10	
1	IMP	76304	5/16 X 1-1/4 FENDER WASHER		\$18.51	
8.5	CIT	R1540	SAE15W40 API CJ4 CITGO OIL 6		\$2.75	
1	MHC	WASHER-20	-20 DEG WASHER FLUID WINTE		\$79.02	
1	INT	1842033C1	INTAKE MANIFOLD GASKET	New	\$0.68	
4	IMPE	71379	14-1/2" ZT	New		
2.25	AC	R134A	FREON		\$3.34	
1	-	PROGRAM	PROGRAM MAXX FORCE MX 9	New	\$4,375.00	
1	INT	3611872C94	SWITCH PACK/HOUSING	New	\$179.59	
1	ARG	WELD1	WELD BLOCK OFF PLUGS		\$88.46	\$88.46
Subl	et/Misc.					D :
Qty	Code/Tech*	Reference	Description		Unit Price	
1	-	REPAIR1	REPAIR CYLINDER HEAD		\$1,177.89	\$1,177.89
1	-	FREIGHT	FREIGHT		\$23.35	\$23.35
	FREIGHT OF	N PISTON COOLIN	NG JET KITS			
1	-	FREIGHT	FREIGHT		\$21.58	\$21.58
	FREIGHT OF	N SHIPPING ORIG	SINAL ECM TO KANSAS CITY FOR EGR I	DELETE REPROGRAMMING		
1	-	FREIGHT	FREIGHT		\$19.80	\$19.80
	FREIGHT O	N FUEL LINE ASS	Υ			
1	-	FREIGHT	FREIGHT		\$39.27	7 \$39.27
	FREIGHT O	N REMAN ECM FO	OR EGR DELETE			
1		FREIGHT	FREIGHT		\$21.69	\$21.69
	FREIGHT O	N INTAKE MANIFO	OLD AND FUEL FILTER MOUNT GASKET	S		
1		FREIGHT	FREIGHT		\$233.8	7 \$233.87
	FREIGHT FO		XX FORCE ECM FOR PROGRAMMING		#20 4	0 000 4
1		FREIGHT	FREIGHT		\$39.4	8 \$39.48
	FREIGHT O	N SWITCH PACK				20.000.71
			Labor			\$9,682.50
			Parts			\$17,993.12
			Sublet/Misc.			\$1,576.93
			Shop Supplies			\$762.40
			Charges			\$0.00
			Sales Tax	Tax @ \$12,021.83 * 8.0000		\$961.7
				Total D	ue	\$30,976.70

ALL SHOP WORK TO BE PAID UPON INVOICE! TERMS: PAYMENTS ARE DUE AT THE END OF THE MONTH FOLLOWING PURCHASE. A FINANCE CHARGE OF 1.50% PER MONTH WILL BE MADE ON ALL ACCOUNTS 30 DAYS PAST DUE.

GG

